EZ-WIN@AFW@>—F | 21.124 $IU11R A7/¥—ZS(G2) 3MEOP =23600m(M2/) 15:25 | &k | L

m | m @

m 5% |eln ﬁ#ﬂgg;gﬁmamuma#gﬁ x AN

miegws 8 F Eﬁ!igﬁﬁ%%ﬁﬁzmsmgggﬁ¥“”ﬁ; fgﬁu@*“"’“
&) | = %

# | @ | i@ S o %

7 AR 46 | 56 |12 136 [I080[ 11.12] 0 | 0 2| 2R | R 20

AN : BEEEER #4 | 56 | 1 104 | 158 | 9.1 | 43|93 [0 =z | z# | R 29

AN BT 5 | 56 142 [1211] 81 | 5 [47] 0 [%m% | ms |# 16

5 4|IoATREY Y | €4 | 56 I 38 |81 [ 158 2 0 [Pz |Fmn 16

i a| a5 [®7 7o 0—X | #4 | 56 D| [&i]air[51 |4 N

4 5|6 (%7 FIqx7Ax | +6 | 56 105 | 85 [11.11] 12 | 34 [ill=ms [mee 26

0] [x|s]7[®@esTu5o72 | #7 [ 56 10,13] 4,16 | 2.12 | 28 0 [mm B 25

i a 8|®r—t>hoe—7 | 15| 56 |4 133 | 7.3 [1810] 3379 | 0 [muwat [mase | TR 28

AR DEEEE #5 | 56 | 6 42 | 85 |12 o7 [ll=me [max|R 38

13[o| o] 7[0[@rr7F—1a 45| 56 |3 41 | 68 |44 0 |xm ET e

5 [A|A|T]11[®F«/ 4>74—Z | #5 | 5 |5 101 | 135 [ 16,13 EEED) 34

4 12]®I—=+ 5| 56 |9|B 314 | 51 | 65 | 12| 34 [Hfllsens [mom| R 32

T[aloBl 3[®orsr—v=ys | 45| 5 |7 | 59 | 22 | 61 |24 0 |mmmm || R

F=—EY: /—HUF—ZR b ARL FROMEHF OEMNHEDOL—Z,

BURIE. LYERICTB - NT - RBOEBZMFITHEYET,

Ffee VE—2—L—RTITN, $HERFY E—2—ERBELVOT,. migEZERHMRIS,

O13BUNI7—Y =9 IIE /= F—RAMOREFH DAL Iz—T L DEE,
BRAr=——E2 T, @RI E-TEYET,
HELA L T7z—JILERDOTLY—T. SELFLET,

* 7B RS TVFUTRIEARNIVMNEL, EREVEITOIE
ZOL—RADBLET. 2ERHICHo1VE—E—TT,

O10BHYT4—aZARICHL—R2EFS T T ANEIH R,

ASEFA7oNO—X[EA N T1—J )L EEIT,
HBORXMNARJLEREVWSERE R,

KA KX 13BT AT A

KA NTT—IIL T BRBP=—EV RS v TR Vb,
BHBORN/—HPUTF—AMEDT, T—AADE5X4X 4N S EIORE RS,
2BOFAEEDETRTTH, AR 23 FHARITEAIE




EZ-WING&Fm—F 21.12.4 R@11R FvL>UC(G3) 3MEOP 22000m 15:45 BE | BRL
m | m @
5|z e B B | WE | WE |5k x AN
AR 1 I - 1he - B P A AR | & || ¥ BB
# a|m|fim|E H - A =
T[olali[1[®Tsnr—r | %3] 53 |2 = 121 [ 101 7.2
HHE : BEEER 46 | 56 | 8 417 | 3% | 156 | 18| 70 | 16 ol d| o [®| TC | 20
2 3 [®ALamA—SR | #6 | 56 |10 15,3 [1012] 168 | 0 [ 0 | 4 |0 [mma| | 10 | 9
an 4 [BRAFND A ER | 15 | 56 | 4 106 | 82 | 7.8 | 448837 M. 7 | & 39
3 x| 5[5 [®AA—T=z4% #5 | 56 |9 82 |182 125 2 | 11| 4 |m=x |mem [48]
s[a|ofBl 6 [®e—rtoE—F | #4] 5 |6 68 | 41 | 73 |20 6812 R| =1 |47
s a| a8 7 [T r | #7157 |3 152 52 | 83 [l 04 [42 |#mg [was8 59
2 1|8 [®<q71o59F | #5 | 56 |11 137 [510 | 59 | 4 [42] 4 |mn@E |mmEw 4
6 [a] [7]9[®7As~or 4 [ 56 |5 138 [ 515 [ 111 [ 18] 70 | 16 [ 2z=| | &8 | 33
3[a 0[BEXFHLRY #e | 56 |7 115 | 71 | 46 | 17|48 | 19 [ww [snm| | & | 42
nolof@l1|®v—y7u7zor [#3] 55 [1 42 | 21 | a1 |FEHGA] 31 [c. o [xmE[R 57

VTR EBNIHORENEE S L— 2,

BUBICE TL—ROEE OWMI—VZARTEYET,
Ff. HEOBZEFABRUTOEVENBVOL—RATIHYET,

O6FBE— A E— & BMMBEX T« —F 1 21X FOEE.
ZOMAEDLER. HEOD2ER - SERLALEBATHYFT,
TFTEA—BUSMIRVEEEEDhTOETH, BIEI/15—T
$RDFRAMSTME2000mEE T2EDERNERLTHEY.
HFEEINE, ERERERDHEICRIERAHET,

BHE

SEHOOANIFEARYIR6R

RiE6—1-7-11

SEE T+ —A—> a9
6—1-7-11—1-2:5-7-11




EZ-WI NBAFmo—F 21.12.4 ®LTR 2@*KBF 51200m 9:50 ®E | BEL
SFIE i o ©
mn|%|els ﬁ#nggggmﬁmﬁmﬁﬁgE T gx?s
m§§s§ ] Q| égﬁ;;;mﬁzwmggg“*“”ﬁg fii | = | g | 0|
|| = =
# | i | fif = | @ Eo
2 11 |®7—VF4F—UF 42 54 13- 415 | 3,13 1111 ] 4 |XLtiR |@EE TC 8
6 1] 2|E)71TILKRD 2 51 5} D |17,12 12| 49 | 17 |kBHEE | BkE TC |17
23 2 IRREIR Lk =t 42 51 7(B 6,9 16 [ 60 | 17 |/h#kiE | BERE 15
4 2 2 54 8 D| 713 19 [ 85 | 17 |z | £ERE 16
22| A 5(EN—CaT5VY 42 54 [3|B 78 34|78 | 36 (mEiE | MEE TC | 15
& 6 [E)A—TS5vy 42 55 |10 1,16 10,14 27 17 |BRH | FAE 12
4 1|ELF7/PAT7 42 54 |16 15,7 0| 0| 4 |&R— |#mx TC 0
3|1 A|© 8 [BE)R=wIE 42 55 | 2 19 | 36 | 83 52 |=HE |fFkX 24
21| A 5(9 42 54 | 6 3,10 | 1,15 15 15 (Fpehi& | B4R TC |13
3| A 5|10|R)25>FLTYT 42 55 | 9 10,7 | 2,16 22 15 [BHRE | a8 TC 6
7ol ol 1[®ravrosava | 2| 55 | 1 [ L1 72 AREENEN |
2 12|E)FFany 42 55 |11 10,12 9,15 | 1,10 | 4 4 |BRE | e TC 6
3 71| 13|8)YanydrzL4R 42 55 |14 8,14 [ 12,2 6 4 |EEE | EhE TC 8
4 1|14|8)Ca>1+—X 42 55 |15 136 | 15,2 | 13,12 4 [ 55| 4 |XE# |2=3F(| R 2
13|©| A 15(F)AYa 2 54 | 4 H 210 | 9,2 40 | 95 | 32 (R | mEE TC | 22
8 l16 £FzU— #2 | 54 |12 132 6 H 4 [nEH | EwaE 1
EZ-WI NBAFmo—F 21.12.4 mL2R 2m*BF ~1800m 10: 15 BE | BEL
SFIE i o ©
mlo|%|els ﬁ#nggggmﬁmﬁmﬁﬁgE T gx?s
w2 s » & B8 55 | A || ¢ (%% ne| o | sw | 5| B | K| BT BEE 5 i | % | g | T
# EANEIE H- #I =
# | i | fif = | @& Eo
2(0(A|1]1]|®=V/FVI—)L 42 51 41C 34 | 216 | 2,4 | 42| 82 | 36 [KEiE | FikE TC |30
A|A|O|1]|2[R)zVvART4—FT A 42 54 |3 8,1 95 | 36 |HEILR | v
1 3 [E)R—ILFFLIL 42 54 |15 87 | 134|165 | 12 3 |ERE |mEx 4
2 4 |B)IT1v4E 42 54 |14 98 |13,12 4 |31 | 3 |ERHA | XTE TC 0
12 5|y avrt—h— 42 54 |12 74 |11,13 0| 0| 5 |Hhi& | =@M TC 6
3 A 6 [E)N\yE—FH—3F 42 54 [9|B 38 25 15 [KEréh | FEIESE 15
3 * 1|(EK//F4—T7 42 54 | 8 6,14 [ 1,5 35 17 |REE | i TC |27
3 8 |B)F4/FrRE— 42 51 |16 79 [ 1271 99 [ 0 [ O | 5 |l |¥eSE TC 0
3 A|l5|9[E®F7ROYYT 42 54 | 6 D|C| 37 | 86 | 35 | 10| 18| 15 [AA# |5F% 28
5/0|A|[5]|10|B)Y=2H07—R 42 54 |1 53 | 32 | 7.4 52 | R | stils 35
3 11|E)TL—RTA—F 42 54 (10 3,7 | 411 | 415 ( 11 | 43 | 15 |#+FHA | H&HX= 6
4 12 |E)FHY 42 51 7 15,1 [ 6,11 | 9,2 | 16 | 76 | 15 |[/#kfE | SEH I 20
9|A|O@| 7|13/ TLR 42 54 | 2 3.7 44 | 76 | 56 |FigE | XFn@E TC |32
3| A 1| 14|R)TLT11UF 42 54 | 5|C 8,6 13161 | 15 [=SHE | FHEE TC | 15
2| A 15|8)Rh—> FA—Y 2 54 |11 11,8 6 | 53 | 3 |%lkE | BKHF 3
8 I EIPZFN L =) 42 54 |13 10,7 | 116 | 82 | 17 - 3 |HBAA | hEE 7
EZ-WI NBAFmo—F 21124 SII3R 2m*BF 22000m 10:45 BE | BEL
SFIE i o &
mln|%|els ﬁ#nggggmﬁmﬁmﬁﬁgE T gx?s
IR IR S » & B8 55 | A || ¢ (%% ne| o | sw | 5| B | K| BT BEE 5 i | % | e | T
% EANIEIE < - I =
i | i | = | @ Eo
15 Al 1| 1(2a—FNILFL 42 55 6 1.5 | 14,10 42 M4 |fEEE | R 34
5 Yl 2 |R)SRT 4 UR—4A 42 55 |10 9,2 | 16,2 20 | 71 | 15 |#&uF0 | 223150 13
5| 0| AWM 3 |XAV—THVRATLA 42 55 | 1 43 | 94 | 111 57 |=HE |fFlkE
3|A|© 4 |¥)TanJjL—yJ 42 55 | 3 5,1 53 | R | wika
15| A| % 5|8y TRF4—IL 42 55 41C 4,2 73 EREA B | B 35
3 6 (BT Fo—)L 42 55 | 7|B 311 | 1,6 | 8,10 | 15| 67 | 15 | K%k | FAZE 17
3 A 1 |RIN—F=—421445> 42 5 |9 8,4 90 [IGH EaETE U 25
3|AlA|5]|8([FOVFLITI—F 42 55 | 5|C 35 | 10,6 36 | 82 | 32 |;miEfE | AR 25
3 5|9|%)/—F4F7R 42 52 |11 10,8 4 128 | 7 |XBHE | REE 4
410|0 10|1%)2Ya—4FNLKRILY 42 55 | 2|B 25 [ 16,8 53 |FisE | fEIE 26
2 11|%)as<Y 42 54 |15 713 | 6,7 8,7 0| 0| 2 |EEH | FHkEE 2
2 71|12|R)T4ALY TR 42 55 |13 13,3 (11,14 410 | 4 | 56 | 2 |M3AA | ho@kFn 7
2 71| 13|R)TN—4F—+ 42 51 |12 125 | 7,6 2 | 13| 2 |ikfE | BRH#FTE 12
2 14|18)74)L>—F 42 55 |14 13,15 2 | 13| 2 |KEM |&EExX 6
4 A 15|E)Y -7+ 42 54 | 8 D| 45 | 11,4 ] 9,10 | 25 15 [&+8 | #k=| R 30
[ EZ-WIN@AFE—F | 21.12.4 fL4R 2&%BF #1800m 11:15 | ®#8 | #RL |




|| i o s
m|o|Z|e|s ﬁ#nggggmﬁmﬁmﬁﬁgE T %k%
mel2ss & B MW s o8| F &k nE| 2w | o | 4| B K| BT RS X fii | = | g | 0|
#® % % |m || || & # I
# | i | = o
1njo|e|1]1|®»=/7oFL7 2 | 52 | 2 [ BN 25 36 | 49 | 56 |xBE | PEE | B 31
3 Y 2 |[2votzxz/0 2 | 55 | 5 59 21 15 |AmE | mges 1
3ol 3 [®A—F«7o~L | #2| 5 |6 2.14 33 17 [mm | = C |12
3 4 [®ox—b7890 #2 | 55 | 8 126 | 9,11 0| 0|15 |zmEm |mRE 4
3| [als]5[@azEss = [m2| 55 |9 64 | 89 [N 7 [ 28] 16 [mm |aw= 10
3 56 |®5149757<0> | #2 | 5 |12 1212] 814 | 510 | 0 | 0 | 3 |mm# [mER C | 6
9 N #2 | 52 |10 6.11 | 128 0|0 |5 [ |mse|R| TC | 4
5 8 ()7 7R w2 | 55 |11 1313 0| 0|3 X% |mum 0
5|A|All]|9(®r—toavT #2 | 55 | 8 95 | 123 | 5.2 |28 54 | 36 |=m® |mmE| R 28
2 1[10[®Tnrs—5— | #2 | 52 |7 6,12 19 15 |Milisi | A7m 4
3|o|ofel i |®5o— #2 | 55 43 | 76 | 64 LR | ArrE 7C
3| A| A8 2[®ILy Fooq %2 | 5 |4 32 | 77 | 107 | 33 | 62 | 36 [wme |=ma
EZ—WINEGAFES—F 21.12.4 ®II5R 2mEB 21200mst 12: 05 ®E | #EL
B|m - #®
mln|%|eln aw%ggggmsm%tME‘?tﬁE T gk%
AR I 1 MW mp | A% k(% wx| 2w | o | £ (BB BT EEE 5 fii | & | 1w | | B
® w8 || w0 7 A
A 11 [®r17ua 2 | 54 |13 1 LHE | PR 6
Alo[1]2 w2 | 65 | 8| |x 2 AR | BILE 14
3 |®)FavTo5— #2 | 5 |16 21 B | ERE 4
A NEE e %2 | 54 | 6 27 Wl | NER
A 5 [®FLTA—F w2 | 54 | 1| |x 22 B | FRE
6 [®)ho A FRACH— | #2 | 52 |15 7 |93 [uma |mm= 4
7[®Ao~UFYESY | %2 | 54 |10 16 84| |%mx |mmm 4
8 [®RA—LykoL7 | #2 | 54 |9 | S 10
59 |%)/77—9— #2 | 55 |12 15|39 | |semm |=miem 2
o|a[5][10 w2 | 54 | 5| |x FlE | 1BE 13
* E)oA YT 4— w2 | 51 |11] |x iR | BAE 18
A8 2[mFs 0—27F #2 | 54 |14 |= AT | M08 7
Ala|7[3[®F¥Lx7Y—0 w2 | 55 | 8 WA | RTH 21
Al A|T]|14[%)w Oy 42 | 54 |4 X R | hEx 6
N IBEEDE: #2 | 51 | 2 x WL | R H
o|o 8 6[®mFrrou—7 w2 | 54 | 1 R | BAs 14
EZ—W I NGAFE—F 21.12.4 ®U6R 2m&E 51800m 12:35 R | #eL
2]z AP e
m 5% (el sm [ |30 5 |0 o | | | |2 |2 | APSE
mel2ss & B "0 mn o2 ek e | 2w | o [ 4| BB BT S X fii | = | g | 0|
& w8 g ®| | nl 2 i =
11 [®ernun #2 | 54 |10 1450 | |m |AE& 2
E)ZE—TASLE | %2 | 54 |9 16|76 | |%emx |mmx 6
A w2 | 55 | 8| |x 13 | 61 ERY | e 5
4 |EE—RTUFILF 42 | 55 |11 0fo EBEE | MBXR 0
o|o @l 5 [®ystrva—F %2 | 55 | 1 D 7 B#% | ARA 23
6 [®EoTo 7Y #2 | 55 |14 oo WEE | tER 0
AlA 7 [®FL——=A—F | %2 | 51 5] |= 18 KBE | SR 12
58 |®Uai—oRomy | %2 | 54 |12 8 28| [|#rm|mmE 2
5[ 9(®mv—ssvkS5ys | #2 | 58 [15 33 W | v [16]
ol a8l 0[®Amton—rok | #2 | 5 | 2| |x 63| |mu |Emm 14
Al [®svrxsou— [ #2| 55 18] |x 8 [92| [|mm—|sAm 8
Al 2[mr—a705— #2 | 54 | 7| |= LHE | PRA 5
INPNEZER w2 | 65 | 4| |x 48| 81| |mmk |hEm 21
o £)(—SAATx #2 | 5 |8 H 35|86 | |mLR |mET H
INR'$ 15|L)F v U777 42 | 55 [ 6 D 0|0 BRE [ hdE— 13




EZ—W I NBEFE— - 21.12.4 W@MI1R 2@kBs £1800m 10: 05 BR[| BEL
m | m 73
m|o| el ﬁﬁ%gﬁggwgmgwgﬁgg T gké
mel2iss & & |48 gn | X || ¥ (& & wE | 2| o | 4| B R BT w8 fli | & | | 0| 90
e & || m|s®| @ ®l 0| = 7 =
6 | | i = %
2 [alo[ 1] [®¥I1—2 #2 | 5 |3|B 27 | 88 | 108 | 17|32 |37 |&mm | mAE
FANE #2 [ 55 [4]B [18] 12 32 [ 17 |mmw | ki 32
3 3|®po/ovsts | #2 | 55 |7 119 [108| 7.5 | 0 | 0 | 15 |mak |mra 0
3] A 4 [ ®7AAEA 42 | 54 | 6 45 [16,16] 67 | 9 |27 |17 |#%m |Ten C |15
4 b [®=hoenxy— | 42 | 5 |8 D[ [810 9 [82] 5 [mwbe | maw 9
& 6 |BTLI—IL %2 | 55 | 5 218 | 7.7 [11,11] 15 17 [vaiiah | 2as 14
s|olal1|71|®7oF4T 844 | 42| 55 |2 87 | 89 | 14,12 |58l 76 [ 59 [@mx |2ma 35
1 8 |[®TSA R/ — #2 | 55 |9 109 [ 7,16 | 96 0 | 5 [nvm s 0
3o o8l 9 [®=a—517u—X | #2] 55 x 9.2 75 M. ¥ | #wm [38]
EZ-W I NBAFES— - 21.12.4 BM2R 2@kBs 41400m 10: 35 ®R | BEL
m | m @
m|o|X|nls ﬁiﬂgg‘;%EWEWQWE@g i g)\ﬁ
mel2ss & & ﬁﬁ;éxﬁ?g&gaﬁtzﬁﬁsrﬁgg W) i | & | i | |
e %% |m| | ® = I &
& | | il N 8
& 11 |®7e—+ #2 | 55 |11 16,1 | 7.11 6 |38 EE) 17
BN : BEEED #2 | 55 |3 C+| 87 | 812 [1413] 0 KR 32
2 3®Ua—vz4% #2 | 55 [10 212 10 N 11
3 4 ®F—4—9197> | #2| 55 |4 210 76 22 Bl 9
3 [5[5 [®7<00 #2 | 52 | 9 413 | 58 | 81320 wATH
2 6 |B)VAH/ VVRTIL 462 54 [7 17,13 11,4 | 12,7 | 22 £
13 1|[®o7roor>7 | 42 | 55 |6 D 7.6 18| 94 | 17 |fom | mm
3|0 A 8 [B)ravFr38y 42 | 55 [ 2 c 64 [311] 54 43 |8 | EEE
8 9 [BAXANS TS #2 | 55 |8 211 26 19| 94 [ 17 |mEx [#AK 14
AR NEEERE #2 | 55 2,3 | 218 | 3,18 50 [C. I |ERK C_| 29
3 In BFALESR #2 | 51 | 5 12,1 | 6,12 | 88 |81 15 &z |BAK 15
EZ-W I NBAFES— - 21.12.4 B3R _2mkBs 41800m 11: 05 ®R | BEL
m | m @
m|o|%|nls ﬁ?ﬂgg‘;%EWEWQWE@gg 3 g)\ﬁ
mel2ss & & ﬁ“zéxﬁ?g&gaﬁtzﬁméﬁﬁ“*“*’“x fii | & | I | |
] %% |m| | E o | Il A
& | | i N 8
& 11 [B7=/ a5 — #2 | 55 |7 17,10 98 | 7.1 | 8 | 19| 15 |ma® |#RA |7
3 2 AR #2 | 55 |9 D[ cC 1213 9 |92 [Jillnre [wa— C_| 18
3[alo #2 | 55 | 4 66 | 45 0 | 0 |29 [=%m [EmE h
2 NEEETSETY #2 | 55 [6]C 106 [ 8,11 | 7.3 | 21| 97 [ 17 |merse [ C_| 16
ANNEHEEET #o | 54 | 2|B 9.1 | 54 | 83 RE | KR 34
3 6 [BNTFAILAY #2 | 55 |5 13,11] 8,10 18 HEEED C_[ 19
AR 1|®5/v7a—Fv— | #2 | 55 32 | 41 [ 23 94 |75 [=mg [$8E| R [42]
4 [o]o 8 & [®un> #2 | 55 | 8 35 30 | 67 [ 87 [rewiak 29
17 9 [®r—nTzis #2 | 55 | 8 812 [ 12,3 005 [m#®|sAz|R] TC |10
EZ-W I NBAFE— - 21.12.4 BMAR 2mkBa 2Z1200m 11:35 ®R | BEL
m | m @
m|o|%|nls ﬁ?ﬂgg‘;%EWEWQWE@gg 3 g)\ﬁ
mel2ss & & ﬁ“zéxﬁ?g&gaﬁtzﬁméﬁﬁ“*“*’“x i | & | I | |
] %% |m| | ® o 5| Il A
& | | i N e
T[alali1]1|[®1oru7z #2 | 54 | 6|C 139 | 83 | &7 | 1456 | 19 |#mEm [mr%| | &k | 17
14 2 [BTA YRy #2 | 54 |9 25 19 (Wit | 554 | R 17
AEN BENEET #2 | 51 |10 122 33 19 [@nzx | 22
2 [a| > |l 4 [BFrLT5— #2 | 55 | 5 11,12] 34 33 19 [ | uarH
11[a]0] 5[5 Elaad%e #2 | 55 | 8 clo 33 40 | 97 [ 32 [+ [mmE
12|a|0[5]6 #2 | 54 | 4 512 | 63 | 53 |43 32|M. 7 |=ES| R 24
1 T |®RA474%yFay | #2 | 54 [8|C 512 33 19 [B8% | a% 25
1 8 |[BFAIkoTN— | #2| 55 |11]C 713 [ 11,1 | 149 |13 3 (@5 |[mAE 21
2 1|9 |[®725—7+3> | #2| 52 |1 78 | 813 21| 81 [ 19 |[ma® |4 16
2[o|a BTV AT 54 |28 45 | 48 45 (@2 [mm#| | 10 | 36
2[o[a 55 |1]C 46 | 86 | 13,1 45 [wma |54 35
Z| |a 54 |12]C 515 54| 6 3 [ | #AA T |17




EZ—W I N@AFE—F 21.12.4 BGM5R 2&¥FA 21800mst 12:25 ®BE | BRL
LIHHE 8% " £
am | x| 5 | | o | o o | o (BB i APNES
O | X (e % | 2w | om | 4| 2| B | BT WS i | = | | 0|
EAE AL L Blnls 7 &
| %@ #
1 w2 | 54 | 4| [l 18|68 | |wawak |xhis
2 |BA—voT X% #2 | 55 |10 wEE | BH 6
3 |FaARETHVARTILR | #H2 | 55 | 9 M. 7 g 8
4|[®x>yoax4hq | #2 | 55 [ 5] |= A AR 16
5 [mEYLTSaY #2 | 54 | 6 =20 | MEB 2
6 (BT FY/nT 2 | 55 |11 EEA |miE 10
T |[®Esyoniqes | #2 | 5 |7 HEE | BAA 1
BT #H2 | 55 |8 RE | nKk 13
B=<v—7r>r #2 | 54 |2 X okt | RER 28
(10 ELIPOETE I 42 | 55 [3] [=| [b A H
1[®arovsysn | #2 | 55 [l B AO 25
EZ—W I NE&FHE— F 21.12.4 BWAHO6R 2@m¥FA 51400m 12:55 RBE | BEL
m | m @
m| 5| eln ﬁﬁggggﬁmnmnmnﬁgg : gkﬂ
mel2ss & "% me | x|m|% |6 e 2w ow | 5| B| X BT B X fii | = | | | R
® %8| | #| o 5| I A
Lol kol % | & ¥
Alal 11 [®ou—oo—=7R | %2 | 54 [6] |[x 2 NBIE [
: HEEERTEL #2 | 54 |8 22|61 |mmx A
Alaf@l 3 [®TLaronTAX | #2 | 55 9] = 1875 | |=%9|zmm 13
Ala|ll 4 [®AqzanTayx | 42| 55 |8 D 26 |52 |mwm | EeE 15
O|a|5|5 [®Av—rersa— | #2| 5 |4 |= 1894 |me |mmm 22
o|oll s [®7sn>T #2 | 54 |1 D BEl 77 [ [ [mma [19]
A[a|1|T[®LyFRSTT5 | #2 | 55 |2 3758 |M. 7 |mem 23
o 1|8 [®EoyonuzoT | 42| 55 |5 D[c 1449 |mone [men 18
* 8 9 [®FUsso—UFR | 42 | 55 |7 1786 |em" |mmx 18
10[BFAVALAD #2 | 54 |10 22|89| |nmm |wRE 4




	ステイヤーズS
	チャレンジC
	中山前
	阪神前

